50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

17CS72

,,,Module- L9
w system attributes affects on Performance factors?

Explain. (08 Marks)
Explain the Architecture of t (07 Marks)
(05 Marks)

Explain the Flynn’s class'

What is Data Depe?dence? Explain type of‘%ata dependence with dependency graph.
My, , W (08 Marks)

Explain Statlc Interconnectlon Networks (07 Marks)

N

N * Module 2 4
v 4

Wlth dlagram, explain the basw@“archltecture of the scalarv omputers (08 Marks)
Distinguish Architectures between CISC and RISC computers, with neg.gwglagram (05 Marks)

What is Super Scalar Archltecture‘7 Explain the Superscalar RISQ rocessor architecture.
y / (07 Marks)

OR

With diagram, explam the hierarchy of the- I%Iemory Technology (05 Marks)

Explain the Ipcluswn property and lo;pahty of reference ‘along with its type in Memory
&

hierarchy. &m (07 Marks)
Explain ]%B Paging and Segglentatlon (08 Marks)
/ Module-3 .
n dlstrlbute,dx&Bus Arbitration. (07 Marks)
Q\,«»Explaln Cache Memory modes with neat, dlégram (08 Marks)
- “Bxplain Sequential/ (Eonmstency Memory ‘Model. (05 Marks)
Explain Speedup, Efﬁmency and’ through put of Linear Pipeline Processors. (05 Marks)
Consider the reservation table given below and determine the
i) For bidden latencies i) MAL  iii) Initial collision vector and
iv) Stat diagram for thet non Jlinear pipeline. (07 Marks)
112(3]4]|5]6
S1]1X X
S2 X X
S3 X
@ S4 X
S5 X X
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in€ design multiplication 8 — bit

c. What are Instruction Pipeline Processors? Explain F‘&p 1
arithematic, with diagram. ol (08 Marks)
a. What are the Dynamic Interconnect Networks?:k xplam Routing in Dynamlc OMEGA 8 x 8
Interconnect Network using 2 x 2 switch modules. - (08 Marks)
b. What is Vector Processing? Explain Vector schemes and memory mtmdlagram (07 Marks)
c. Write a note on Cross Bar Networks.design V/s Multiport Memory. (05 Marks)
il # z: )ﬁi’}:’) N
« # OR
a. Explain Hierarchical Bus Syste 1th diagram. %) (05 Marks)
b. Explain four Context — Switchgng Policies in Multiprocessing Modes. (08 Marks)
c. Explain Connection Maehm@ éM 2 Archltecture vﬁth diagram. (07 Marks)
"‘M% v N
Module-5
a. Define Parallel Pr Wgrammmg Model. Explam shared and distributed parallel models.
Ao % (08 Marks)
b. Explain Concurre% OOP and Actor mockel m ObJect Oriented Parallel Programming Model.
»&% N (05 Marks)
c. Explain {Sfmé“lf)les of Synchromzan&n in Parallel Programming in Multiprocessing.
£ Yy 4 “ e (07 Marks)
PN o Wy f’%@i@*‘
a. ; dfj&:'?neration in parallel
(07 Marks)
b. (08 Marks)
c. Write a note on Dependency Testing. Br1 fly.. (05 Marks)
A N> A e LN
Aﬁg‘ S
\ Sl
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